The grossing-up weight (for particular stratum) was calculated as the product of three weights:
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, where 
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is the sampling weight which is calculated as an inverse value of the inclusion probability, 
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 is a non-response weight and 
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is a correction due to the ratio estimation system used and is for each stratum calculated as follows: 
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, where 
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 is number of employees and 
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Final grossing-up weights were then calculated by the calibration macro CALMAR, which was used to adjust the estimated number of employees (by strata) and estimated turnover (by size) to the known population margins.
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